1.

—_— . O
AA-G U 9o 380 opd & FES A, B
ot ANB=A ¢ o, o= & P &2 A2?

® ANB=o ® AUB=U
® B C Ac @ A-B=g
® BNA*=g

2194 §F g4 30 T AYTIE 71K A2 21 1,
FOASE 7HA sHAL 19 W, = o 7R Q=
SHY-2 11 goltt, o] uff, Fefdstr|wt 7421 Q=
S =7

® 84 @ 119 ® 199

@ 219 ® 307

n({1, 3, 5, 7}) —n({1, 5, 7}) +n({0,2}) 2 F&
Johof et

AR A= {x| 2t 1080 22 29] vj5}
B C A°lin(B) =3 & WEshe

Fotofel,

of thstod

o A4E

7.

B o 5t n(A) = 25, n(B) = 16, AN
o, n(AUB)+ n(A-B) ©] gk= F-stef=t.

A A = {z | 2= nBtE T 39 85} o st

9¢ Aol 12e AE WESte e n 2 BF

Fotolet,

S P Y KL




8. g H7|9 BE A A FollA 7IEe] Bt A2

NA7E?

92 WOl AL 100m S e SHYES

%@%ﬁ%%ﬂlﬂﬂﬂ%ﬁhlﬁ%%

aet.

© ol WA A7t FL A2 W
FRE AL Holtt,

sk sy Aol Ert.

r

E7} ol Brhe 27ke] Bl

0l 7Hg 7P7ke Ado] 24

@ 174 @ 274 @ 37

@ 47 ® 574

9. F A A= {z|lz= o1 15 olste] A, B =
{zlze 12 o1& 18 mIRte] 39 i} o] tiste] th=
27& WSSt A X 9 A F5tofEt

57
XCA BcCcX, nX)=4

10. n({07 g, {07 2} ) {1}}) XTL({O, 1})—71(@) % :,7-6]-0:131-

@ {a} C S

© {b}es

© {b,c,dles
@ ceS, desS
@ {c,d}CcS

® Sc{a, b c d}

12. A P of tiste] 24 = {P| P c A} & At}

A={1,2,4} € o, o= T &4 &= AL?
O el @ @coi ® {o}c24
@ {o}c2t G Ae24

13. Ad% ko disted »® 4, =

{x|k<x<20k°] X}ﬂz\r} g o, n(d4; N A2 N
As---NAp) 9 e F5todet.




14. 3 A={z | 2= Z,\_}oﬂtﬂo]-oqq-% ety
o et H Fpoter,

(2) B 9 942] /%= 3 7] olstoltt.

15. A AF A = {2[zE 108 22 &) | B =
{x\x—t— 72 thro] the )7} 6915 )
= {z[z= F A= &5 7t A4 A A
N o BEAGI o, (AUBUC)N(AUBUC®) —
(A°n B) & Yatdgos vehjolet




